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Government expenditure
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Tax is not autonomous - it reduces the size of the multiplier and swivels the A — curve

downwards to reduce A and Y / production / employment.
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1. Multiplier in a closed economy; without goverment

1

< = (1-c¢)

2. Multiplier in a closed economy; with goverment

1
oc = 1-c(1-t) Remember BODMAS!

3. Multiplier in a open economy; with goverment

1
o= 1-c(1-1)+m Remember BODMAS!

4. Equilibrium national income (YE)

Ye=x. A
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For open economy; with goverment:

5. Changein A required to bring about full employment

AY
AA = o Where: AY = Yf-Ye

6. Budget deficit / surplus

When T - G = + (surplus)
When T - G = — (deficit)

T=tY where T is total amount of tax and t = tax rate (%)

7. Disposable income

Ya=Y-T where Yd = disposable income i.e. after tax and Y = income before tax
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